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Full Marks : 80
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The figures in the margin indicate full marks
Jor the questions

1. wors il RIferz w7 & o7 S@EY ¥ 0 1x4=4

State whether the following statements are
True or False :

(@) SIS =rg [N owE FE KA A
=T |

Health insurance in India is offered by
Life Insurance Companies.
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(b) 1 NS, Bt oRRw IR GO CIoT
AR =T

In group insurance, a policy covers a
group of individuals.

(c) SR uR. f5. 9-@ swEt | 4= AW ATV
g-+fq e R

IRDA has prescribed proposal forms for
all insurers.

(d) ~RCM FT = ooyl Jepete o |

Paid-up value is less than surrender
value.

2. WA 3R oFg ] 1x4=4

Fill in the blanks :

(a) ¥ 80C, 80CCC F 80DA /TS NEH

IS XA ol |
The maximum deduction unde':r
! Sections 80C, 80CCC and 80D is
&
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b) e Swedw e FagT

______ regulates mutual funds in India.

(c) FPRI 7=of & X4 :
The full form of FPR is

| (@) Ry RfEMR @ @ AR 34
“ffoe QI |

A policy where the policyholder makes
a one-time payment of premium is
known as

3. o) R @i 5R6RA e[S oy Gt fordt :  4x4=16

|
Write short notes on any four of the ‘
following : 1

|

(@ v&E A=

Group Insurance

(b) QR SRAT T4

Economic value of life
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(¢) U8R 9q

Proposal Form

(d) WKW W “q

Whole-life Product

(e) TR s

Calculation of Premium

() XOFb-Prrs Mt ~RTw=I

Unit-linked Insurance Plan

4. (@) IEIM TES TN @EAPHE HoEwear RS
Sy wiE e wnfa e gron w4 14
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Explain the different savings and
investment-related schemes offered by

insurance companies in recent ume.
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St/ Or
(b) A W 67 Nt @reeiTprez. @Rl @S
QM Ay MW R o 341 | 4+10=14

What is health insurance? Explain the
different types of health insurance
which are offered by insurance
companies.

5. (@) € vaR d@EaTel B2 Grw Az R

e To amEAEel RIe @ 2w

Teim Roiet T IRT @ G2 REE e
WI 4+10=14

What are life cycle needs? Discuss how
life insurance can act as an important
component in fulfilling various life cycle

needs.
</ Or

(b) IR WEH, S50 I RfSw 4R_rS FIOF %
TET w9l fAfem Grw AT Ay REE
IZER DA 4T | 14

Discuss briefly about various types of
life insurance policies that provide
some deduction to the tax payer under
various Sections of Income-tax Act,
1961.
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6. (a) €= A AR el oy g Re RS

7.
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(b)

(@)

a2 S sweft R e el gen ARCM
T Yo Rfme gEme I @mR PRPER

I 4w 3+5+6=14

What is surrender value of life
insurance policy? Under what circum-
stances can it be surrendered? Explain
why surrender value is lower as
compared to the total premium paid.

o{q ) Or

QAR IR e @it T frfeer aifee f52
QARR iR Fe seiies T SAMEEER

It =t | 3+5+6=14

What do you mean by bonus? How is it
calculated? Discuss the factors that
affect the calculation of bonus.

SRR W @EARPER SRRl R[S
[ RS W sphe REw IFR
AT 9 |

Briefly discuss about the different types
of traditional insurance plans - offered
by insurance companies in India.
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23 / Or
(b) TS MAEEA WAL 341 - 7x2=14

Explain the following :

(i) Pl afdw

Premium receipt

(i) SzeEt <&
Mutual fund
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